
MATHS

BOOKS - RS AGGARWAL MATHS (HINGLISH)

ALGEBRAIC EXPRESSION

Example

1. Add:  and 

A. 

B. 

C. 

D. 

5x2 − 7x + 3, − 8x2 + 2x − 5 7x2 − x − 2

4x2 + 6x − 4

4x2 − 6x − 4

4x2 − 6x + 4

4x2 + 6x + 4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nwHOuQFcDHNO


Answer: B

Watch Video Solution

2. Add:

Watch Video Solution

(3x2 − x + ) + ( x2 + x − ) + ( − 2x2 − x + 5)
1

5

7

3

−1

4

1

3

1

6

1

2

3. Subtract  from 

A. 

B. 

C. 

D. 

(2x2 − 5x + 7) (3x2 + 4x − 6)

x2 + 9x + 13

x2 − 9x + 13

x2 + 9x − 13

x2 − 9x − 13

https://dl.doubtnut.com/l/_nwHOuQFcDHNO
https://dl.doubtnut.com/l/_oAYPqAFhiVAT
https://dl.doubtnut.com/l/_Qy7H48IJRDmg


Solved Examples

Answer: C

Watch Video Solution

4. Take away  from 

Watch Video Solution

( x2 − x3 + x − 1)
8

5

2

3

3

2

( − x2 + x + )
x3

5

3

2

2

3

1

4

1. Multiply: 

(i) 6ab by 4b 

(ii)  by  


(iii)  by  


(iv)  by 

5ab2c3 7a2bc

−6x2yz xy3z22

3

a2bc3−8

5
ab2c

−3

4

https://dl.doubtnut.com/l/_Qy7H48IJRDmg
https://dl.doubtnut.com/l/_ijn0qLAZjiZ0
https://dl.doubtnut.com/l/_sih6sZEEF2Di


Watch Video Solution

2. Multiply: 

 and  


(ii) 

 abd 6c 


(iii)  and  


(iv)  and 

Watch Video Solution

(i) − 8ab2c, 3a2b −
1

6

a3b2, 12a2b
5

8

4, x
5

12
−8x2y

−a, a2bc ab2c2−2

5

3. Multiply  by and verify your result for x = 2 and y =

1

Watch Video Solution

xy3−4

3
x2y

6

7

https://dl.doubtnut.com/l/_sih6sZEEF2Di
https://dl.doubtnut.com/l/_aCZ1S8bbFT07
https://dl.doubtnut.com/l/_GxOzEVYcbFLX


4. Multiply:  and 

Watch Video Solution

( − 5x2y), ( xy2z), ( xyz3)
−2

3

8

15
( z)

−1

4

5. Multiply 3x by (2x + 5y)

Watch Video Solution

6. Multiply (3xy + 2y) by 5xy.

Watch Video Solution

7. Multiply  by (x + 2y)

Watch Video Solution

x2y
9

2

https://dl.doubtnut.com/l/_uYHUiF8ieh92
https://dl.doubtnut.com/l/_7AOVM4x6KPLj
https://dl.doubtnut.com/l/_uK6H7dXKv96Z
https://dl.doubtnut.com/l/_MD0y2Cl8M0if
https://dl.doubtnut.com/l/_f52KxKMlXgNM


8. Multiply  by .

Watch Video Solution

(3x − y2x)
4

5
xy

1

2

9. Multiply (3x + 5y) and (5x - 7y)

Watch Video Solution

10. Multiply  by 

Watch Video Solution

(3x2 + y2) (2x2 + 3y2)

11. Multiply  and 

Watch Video Solution

( x − y)
1

5

1

4
(5x2 − 4y2)

https://dl.doubtnut.com/l/_f52KxKMlXgNM
https://dl.doubtnut.com/l/_Y6EBmmYXTMeN
https://dl.doubtnut.com/l/_iDGlCobGYPTB
https://dl.doubtnut.com/l/_g0y22uvXhDuL
https://dl.doubtnut.com/l/_asUVE18ZHwTo


Exercise 6 A

12. Multiply  by (2x - 3)

Watch Video Solution

(5x2 − 6x + 9)

1. Add the following expressions: 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi)  

(vii)  


(viii)  

(ix)  


5x, 7x, − 6x

x, x, x
3

5

2

3

−4

5

5a2b, − 8a2b, 7a2b

x2, 5x2, − 3x2, x23

4

−1

4

x − 3y + 4z, y − 2x − 8z, 5x − 2y − 3z

2x2 − 3y2, 5x2 + 6y2, − 3x2 − 4y2

5x − 2x2 − 8, 8x2 − 7x − 9, 3 + 7x2 − 2x

a − b + c, − a − b + c, a + − c
2

3

4

5

3

5

3

4

5

2

2

3

5

2

7

4

5

6

x + y + xy, − x − y − xy
8

5

11

7

9

4

3

2

5

3

9

5

https://dl.doubtnut.com/l/_asUVE18ZHwTo
https://dl.doubtnut.com/l/_s3Olaa7a5bWy


(x)

Watch Video Solution

x3 − x2 + , − x3 + x2 − x + , − x2 + x −
3

2

1

4

5

3

5

4

3

5

1

5

3

8

8

15

2. Subtract: 

(i)  from  


(ii)  from  

(iii)  from  


(iv)  from  


(v)  from  


(vi)  from 

Watch Video Solution

−8xy 7xy

x2 −3x2

(x − y) (4y − 5x)

(a2 + b2 − 2ab) (a2 + b2 + 2ab)

(x2 − y2) (2x2 − 3y2 + 6xy)

(x − y + 3z) (2z − x − 3y)

3. Subtract (2a - 3b + 4c) from the sum of (a + 3b - 4c), (4a - b +9c)

and (-2b + 3c -a )

https://dl.doubtnut.com/l/_s3Olaa7a5bWy
https://dl.doubtnut.com/l/_tLRGJp3bJRDv
https://dl.doubtnut.com/l/_pEP3O6f8RmOx


Watch Video Solution

4. Subtract the sum of  and 

from the sum of  and 

Watch Video Solution

(8m − 7n + 6p2) ( − 3m − 4n − p2)

(2m + 4n − 3p2) ( − m − n − p2)

5. Subtract the sum of  and 

from -3

Watch Video Solution

(8a − 6a2 + 9) ( − 10a − 8 + 8a2)

6. Simplify : 

(i)  


(ii)  


(5x − 9y) − ( − 7x + y)

(x2 − x) − (x − 3 + 3x2)
1

2

https://dl.doubtnut.com/l/_pEP3O6f8RmOx
https://dl.doubtnut.com/l/_8ZduqOys052r
https://dl.doubtnut.com/l/_gwTJ2idgdiub
https://dl.doubtnut.com/l/_6iXwE1E6VAfS


Exercise 6 B

(iii)  


(iv) 

Watch Video Solution

[7 − 2x + 5y − (x − y)] − (5x + 3y − 7)

( y2 − y + 5) − ( y − y2 + 2) − ( y − 3 + 2y2)
1

3

4

7

2

7

2

3

1

7

1. Find the products

Watch Video Solution

3a2 × 8a2

2. Find the products

Watch Video Solution

6x3 × 5x2

https://dl.doubtnut.com/l/_6iXwE1E6VAfS
https://dl.doubtnut.com/l/_cykf3BlwiMuj
https://dl.doubtnut.com/l/_na72Czf7VESf
https://dl.doubtnut.com/l/_ji9yFiDHnWVM


3. Find the products

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[ − 4ab] × [ − 3a2bc]

−12a3b3c

12a3b3c

12a3b2c

−12a3b2c

4. Find the products

Watch Video Solution

(2a2b3) × ( − 3a3b)

https://dl.doubtnut.com/l/_ji9yFiDHnWVM
https://dl.doubtnut.com/l/_ni8SAwv5HPhr
https://dl.doubtnut.com/l/_5znCJ1y3ByW8


5. Find the products

Watch Video Solution

x2y × xy22

3

3

5

6. Find the products

Watch Video Solution

( ab3) × ( a2b4)
−3

4

−2

3

7. Find the products

Watch Video Solution

( a2b2) × ( a3bc2)
−1

27

−9

2

8. Find the products( ab2c) × ( a2bc2)
−13

5

7

3

https://dl.doubtnut.com/l/_5znCJ1y3ByW8
https://dl.doubtnut.com/l/_YnZXkQ9FViFW
https://dl.doubtnut.com/l/_yCDXTg6EFzdn
https://dl.doubtnut.com/l/_6fKoc98qeGhC


Watch Video Solution

9. Find the products

Watch Video Solution

( x2z) × ( xz2y)
−18

5

−25

6

10. Find the products

Watch Video Solution

( xy4) × ( x3y)
−3

14

7

6

11. Find the products

Watch Video Solution

( x2y) × ( xy2) × ( x3y3)
−7

5

3

2

−6

5

https://dl.doubtnut.com/l/_6fKoc98qeGhC
https://dl.doubtnut.com/l/_c5KaaaC4Opt0
https://dl.doubtnut.com/l/_u7598nG04IJI
https://dl.doubtnut.com/l/_yvvLcnD25Shf


12. Find the products

Watch Video Solution

(2a2b) × ( − 5ab2c) × ( − 6bc2)

13. Find the products

Watch Video Solution

( − 4x2) × ( − 6xy2) × ( − 3y)

14. Find the products

Watch Video Solution

( s2t) × ( st2u) × ( su2)
−3

5

15

7

7

9

https://dl.doubtnut.com/l/_yvvLcnD25Shf
https://dl.doubtnut.com/l/_MIxS4IDERWXg
https://dl.doubtnut.com/l/_gm92b7GKMKhi
https://dl.doubtnut.com/l/_1ReM5FnbFObM


15. Find the products

Watch Video Solution

( u4v) × ( uv3) × ( u2v3)
−2

7

−14

5

−3

4

16. Find the products

Watch Video Solution

(ab2) × ( − b2c) × ( − a2c3) × ( − 3abc)

17. Find the products

Watch Video Solution

( x2yz) × ( y2zx) × ( − 6xyz2)
4

3

1

3

https://dl.doubtnut.com/l/_SL5SuG3lvWwj
https://dl.doubtnut.com/l/_7twZOkSAwwxn
https://dl.doubtnut.com/l/_jBjqNIWwBtSS


18. Multiply  by  and verify your result for a = 2 and b

= 3

Watch Video Solution

− a2b
2

3
a3b26

5

19. Multiply  by  and verify your result for x = 3

and y = 2

Watch Video Solution

− x2y38

21
− xy27

16

20. Find the value of  when a = 1 and b = 0.5

Watch Video Solution

(2.3a5b2) × (1.2a2b2)

21. Find the value of  for u = 2.5 and v = 1.

W t h Vid S l ti

( − 8u2v6) × ( − 20uv)

https://dl.doubtnut.com/l/_iti6ZXiNiL8V
https://dl.doubtnut.com/l/_HjehIBSUDNc0
https://dl.doubtnut.com/l/_BCNBls4nGKpa
https://dl.doubtnut.com/l/_ncjWS6ZZMgFh


Watch Video Solution

22. Find the products given below and in each case verify the

result for a=1,b=2 and c=3:

Watch Video Solution

( a2b) × ( − 15b2ac) × ( − c2)
2

5

1

2

23. Find the products given below and in each case verify the

result for a=1,b=2 and c=3:

Watch Video Solution

( abc) × ( − 6b2c) × ( − c3)
1

4

1

3

24. Find the products given below and in each case verify the

result for a=1,b=2 and c=3:

https://dl.doubtnut.com/l/_ncjWS6ZZMgFh
https://dl.doubtnut.com/l/_UPdOnI9sjTB5
https://dl.doubtnut.com/l/_LgfJOkr0y4RY
https://dl.doubtnut.com/l/_QFQSfqO0l87E


Exercise 6 C

Watch Video Solution

( abc3) × ( a3b3) × ( − 8b3c)
4

9

−27

5

25. Find the products given below and in each case verify the

result for a=1,b=2 and c=3:

Watch Video Solution

( a2b) × ( b2c) × ( c2a)
−4

7

−2

3

−7

6

1. Find each of the following products 

Watch Video Solution

4a(3a + 7b)

https://dl.doubtnut.com/l/_QFQSfqO0l87E
https://dl.doubtnut.com/l/_ugwHH6nVTs4r
https://dl.doubtnut.com/l/_O4mmFK7tAmwp
https://dl.doubtnut.com/l/_dg5tPhoAhNVU


2. Find each of the following products 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

5a(6a − 3b)

30a2 − 15ab

30a − 15b

−30a2 + 15ab

3. Find each of the following products 

Watch Video Solution

8a2(2a + 5b)

https://dl.doubtnut.com/l/_dg5tPhoAhNVU
https://dl.doubtnut.com/l/_3FsQfeR79C3g
https://dl.doubtnut.com/l/_pxqwKo4tDHZe


4. Find each of the following products 

Watch Video Solution

9x2(5x + 7)

5. Find each of the following products 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ab(a2 − b2)

a3b − ab3

a3b + ab3

−a3b + ab3

none

https://dl.doubtnut.com/l/_pxqwKo4tDHZe
https://dl.doubtnut.com/l/_nhSKNrLdLFIn
https://dl.doubtnut.com/l/_ytDiS2xESssa


6. Find each of the following products 

Watch Video Solution

2x2(3x − 4x2)

7. Find each of the following products 

Watch Video Solution

m2n(m + 5n)
3

5

8. Find each of the following products 

Watch Video Solution

−17x2(3x − 4)

https://dl.doubtnut.com/l/_ytDiS2xESssa
https://dl.doubtnut.com/l/_nSeiNJZVXZGu
https://dl.doubtnut.com/l/_2UUsFv4fAEun


9. Find each of the following products 

Watch Video Solution

x2( x + 2)
7

2

4

7

10. Find each of the following products 

Watch Video Solution

−4x2y(3x2 − 5y)

11. Find each of the following products 

Watch Video Solution

− xyz( x2yz − xyz2)
4

27

9

2

3

4

https://dl.doubtnut.com/l/_5S1QxjgUCdZd
https://dl.doubtnut.com/l/_i843dOQL44cj
https://dl.doubtnut.com/l/_kgjztT6MZjHw


12. Find each of the following products 

Watch Video Solution

9t2(t + 7t3)

13. Find each of the following products 

Watch Video Solution

10a2(0.1a − 0.5b)

14. Find each of the following products 

Watch Video Solution

1.5a(10a2b − 100ab2)

https://dl.doubtnut.com/l/_RT8UbZEKV01d
https://dl.doubtnut.com/l/_QC2H3fhFgNfa
https://dl.doubtnut.com/l/_73PmEa1qDhXx


15. Find each of the following products 

Watch Video Solution

abc(a2 + b2 − 3c2)
2

3

16. Find the product  and evaluate it for x = 2.

Watch Video Solution

24x24(1 − 2x)

17. Find the product  and evaluate it for a = 2 and b = 3.

A. 26

B. 78

C. 86

D. 54

ab(a2 + b2)

https://dl.doubtnut.com/l/_bOAqfGvptYve
https://dl.doubtnut.com/l/_CKy3eMg7kin3
https://dl.doubtnut.com/l/_ndLFWsuYVVSJ


Answer: B

Watch Video Solution

18. Find the product  and find its value s= 2 and t = 3.

Watch Video Solution

s(s2 − st)

19. Find the product  and find its value for x = 4 and

y = 5

Watch Video Solution

−3y(xy + y2)

20. Simplify each of the following

Watch Video Solution

a(b − c) + b(c − a) + c(a − b)

https://dl.doubtnut.com/l/_ndLFWsuYVVSJ
https://dl.doubtnut.com/l/_GLEyHdH7hgpE
https://dl.doubtnut.com/l/_NmsK0CPK2BPE
https://dl.doubtnut.com/l/_ED9UUHBTCByw


21. Simplify each of the following

Watch Video Solution

a(b − c) − b(c − a) − c(a − b)

22. Simplify each of the following

Watch Video Solution

3x2 + 2(x + 2) − 3x(2x + 1)

23. Simplify each of the following

Watch Video Solution

x(x + 4) + 3x(2x2 − 1) + 4x2 + 4

https://dl.doubtnut.com/l/_ED9UUHBTCByw
https://dl.doubtnut.com/l/_NM3rG3pgC8a7
https://dl.doubtnut.com/l/_xxCCI7rp4cEE
https://dl.doubtnut.com/l/_0DYWYbYGsLLv
https://dl.doubtnut.com/l/_B9wUyay9kAp0


Exercise 6 D

24. Simplify each of the following

Watch Video Solution

2x2 + 3x(1 − 2x3) + x(x + 1)

25. Simplify each of the following

Watch Video Solution

a2b(a − b2) + ab2(4ab − 2a2) − a3b(1 − 2b)

26. Simplify each of the following

Watch Video Solution

4st(s − t) − 6s2(t − t2) − 3t2(2s2 − s) + 2st(s − t)

https://dl.doubtnut.com/l/_B9wUyay9kAp0
https://dl.doubtnut.com/l/_FU24xo77tVTs
https://dl.doubtnut.com/l/_AhjsgTcLVPGd
https://dl.doubtnut.com/l/_ZHEd3hn7ZS7V


1. Find the each of the following products:

Watch Video Solution

(5x + 7)(3x + 4)

2. Find the each of the following products:

Watch Video Solution

(4x − 3)(2x + 5)

3. Find the each of the following products:

Watch Video Solution

(x − 6)(4x + 9)

https://dl.doubtnut.com/l/_ZHEd3hn7ZS7V
https://dl.doubtnut.com/l/_Ob8ArmJnViN6
https://dl.doubtnut.com/l/_JUyLP0rE4i8L


4. Find the each of the following products:

Watch Video Solution

(5y − 1)(3y − 8)

5. Find the each of the following products:

Watch Video Solution

(7x + 2y)(x + 4y)

6. Find the each of the following products:

Watch Video Solution

(9x + 5y)(4x + 3y)

https://dl.doubtnut.com/l/_d7SQ0s87GMJQ
https://dl.doubtnut.com/l/_oU88aUz7QAFU
https://dl.doubtnut.com/l/_n45rPTFffdX6


7. Find the each of the following products:

Watch Video Solution

(3m − 4n)(2m − 3n)

8. Find the each of the following products:

Watch Video Solution

(0.8x − 0.5y)(1.5x − 3y)

9. Find the each of the following products:

Watch Video Solution

( x + 2y)( x − y)
1

5

2

3

https://dl.doubtnut.com/l/_8ECKsehlQ0om
https://dl.doubtnut.com/l/_j3Rk11CkJhtC
https://dl.doubtnut.com/l/_L3tGnT7Y0CiV


10. Find the each of the following products:

Watch Video Solution

( x − y)(10x − 8y)
2

5

1

2

11. Find the each of the following products:

Watch Video Solution

( a + b)(4a + 3b)
3

4

2

3

12. Find the each of the following products:

Watch Video Solution

(x2 − a2)(x − a)

https://dl.doubtnut.com/l/_fw9cnbgdwuqg
https://dl.doubtnut.com/l/_M1bbC0MTm2zR
https://dl.doubtnut.com/l/_tAV5G04Lnch4


13. Find the each of the following products:

Watch Video Solution

(3p2 + q2)(2p2 − 3q2)

14. Find the each of the following products:

Watch Video Solution

(2x2 − 5y2)(x2 + 3y2)

15. Find the each of the following products:

Watch Video Solution

(x3 − y3)(x2 + y2)

https://dl.doubtnut.com/l/_Yt0Z9LYxIig6
https://dl.doubtnut.com/l/_xYhMCXWKrxNh
https://dl.doubtnut.com/l/_9ElNGFH5bYCP


16. Find the each of the following products:

Watch Video Solution

(x4 + y4)(x2 − y2)

17. Find the each of the following products:

Watch Video Solution

(x4 + )(x + )
1

x4

1

x

18. Find the each of the following products:

Watch Video Solution

(x2 − y2)(x + 2y)

https://dl.doubtnut.com/l/_W8fhVySuvFWs
https://dl.doubtnut.com/l/_uJ4TgERzxWH5
https://dl.doubtnut.com/l/_EPOzZbjwA2fB


19. Find the each of the following products:

Watch Video Solution

(2x + 3y − 5)(x + y)

20. Find the each of the following products:

Watch Video Solution

(3x + 2y − 4)(x − y)

21. Find the each of the following products:

Watch Video Solution

(x2 − 3x + 7)(2x + 3)

https://dl.doubtnut.com/l/_jqaP8ocD233G
https://dl.doubtnut.com/l/_JZvlcCb3ix4a
https://dl.doubtnut.com/l/_sMLV4cc2Y55o


22. Find the each of the following products:

Watch Video Solution

(3x2 + 5x − 9)(3x − 9)

23. Find the each of the following products:

Watch Video Solution

(9x2 − x + 15)(x2 − 3)

24. Find the each of the following products:

Watch Video Solution

(x2 + xy + y2)(x − y)

https://dl.doubtnut.com/l/_IuxuGh1pW0L4
https://dl.doubtnut.com/l/_YlVVMe2MH7x8
https://dl.doubtnut.com/l/_BTRSvtdG9fvl


25. Find the each of the following products:

Watch Video Solution

(x2 − xy + y2)(x + y)

26. Find the each of the following products:

Watch Video Solution

(x2 − 5x + 8)(x2 + 2)

27. Simplify:

Watch Video Solution

(3x + 4)(2x − 3) + (5x − 4)(x + 2)

28. Simplify:

W t h Vid S l ti

(5x − 3)(x + 4) − (2x + 5)(3x − 4)

https://dl.doubtnut.com/l/_2NZilc48adsq
https://dl.doubtnut.com/l/_DZyUMCTUGkck
https://dl.doubtnut.com/l/_ziBKilInC4aY
https://dl.doubtnut.com/l/_5MN4kTjJDaqU


Watch Video Solution

29. Simplify:

Watch Video Solution

(9x − 7)(2x − 5) − (3x − 8)(5x − 3)

30. Simplify:

Watch Video Solution

(2x + 5y)(3x + 4y) − (7x + 3y)(2x + y)

31. Simplyfy:

Watch Video Solution

(3x2 + 5x − 7)(x − 1) − (x2 − 2x + 3)(x + 4)

https://dl.doubtnut.com/l/_5MN4kTjJDaqU
https://dl.doubtnut.com/l/_PscwnQjHdCun
https://dl.doubtnut.com/l/_jF7nYN8mbL3p
https://dl.doubtnut.com/l/_VzG6PaI3zDwX



